
Addition and Subtraction Word Problems 
 

1. There are 32 children in Year 4 and 33 in Year 5. 
How many children are there in Years 4 and 5 ? 

 
2. There were 56 children in the music lesson, but 5 

went to the toilet and 3 were sent home because 
they were ill. How many children were left in the 
lesson? 

 
3. There were 423 people on Train A, 298 people 

on Train B and 196 people on Train C. How 
many people were there altogether ? 

 
4. There were 341 people on the school trip from 

two different schools. There were 276 people 
from one school. How many people were from 
the other school ? 

 
5. The attendances at three football matches were 

45 674, 49 128 and 38 763. What is the total 
attendance for the three games. 

 
6. There were 23 491 people at the pop concert (in 

Stands A,B and C). In Stand A there was 13 432 
and in Stand B there were 7 652 people. How 
many people were in Stand C? 

 


